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A/59/PV.8

%./ 0$(&1 6 S95969, 5 3,< ;39*. D3$ (,84 <9#8$
*.34, %$?9%,(, -953&#%C3$.

K98#$"&) 6.53C7$,3 '$ 95CA,5368,%&, 6 798-
%9< 9*+,<, 
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A/59/PV.8

X6$B,%&, & 59*8=-,%&, #95C-$"536$<&-;8,%$-
<& <,B-C%$"9-%9 7"&'%$%%./ 53$%-$"396 6 9*8$53&
7"$6 ;,896,?$ )68)=35) 7",-795.8?91 -8) &/ %$-
(&9%$84%91 *,'97$5%953& & 9*,57,;,%&) &/ C5391-
;&69#9 "$'6&3&). M39 3$?B, 7",-795.8?$ -8) 9*,5-
7,;,%&) <,B-C%$"9-%9#9 <&"$ & *,'97$5%953&. V$-
A&3$ 95%969798$#$=A&/ 7"$6 & 569*9- ;,896,?$ 69
65,< <&", )68),35) 7"&9"&3,3%.< 




